1A. On the following plot, draw harmonics of a complex sound with fundamental of 
500 Hz to illustrate which harmonics would be resolved and unresolved. 
2B. Draw indices (1, 2, 3, etc) on the harmonics. 
3C. Draw a boundary between resolved and unresolved portions of the spectrum.
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4. Draw three waveforms: a 50-Hz pure tone, a 54-Hz pure tone, and a mixture of both tones as they would combine in an auditory filter. (Adding waveforms together). 
[image: image2.png]50 Hz

54 Hz 50 Hz + 54 Hz
0
K=
L
o
™
K=
O
)
£
T
AN
K=
S
o
K=




 

